United States Postal Service
Postage Statement -- Periodicals

-	16214423591 M1	20180611	14423600M1		Postage Statement N 307819542	dumber.	Made		0.000	all my says and all
Group	Mailing Group ID 215850567			ii.		lailing Job N 3767700				Open Date 06-11-2018
	Preparer ROYLE PRINTING	CO		Origin Mail.dat					Close Date	
Mailing	Job Description		No.			viaii.dat				
ž	COUNTRY JOURN		RNA					1	100	Name Clair and 7/D+4
Mailer	Publication Title and Owner or News Agent's Name GRAIN JOURNAL GRAIN JOURNAL 3065 PERSHING CT DECATUR, IL 62526-1564 (217)877-9660 mark@grainnet.com Customer Ref. ID: 37677001 CRID: 2924854		Mailing Agent's (Printer or Consolidator) Name, Telephone Number, and Email Address if Any ROYLE PRINTING CO 745 S BIRD ST SUN PRAIRIE, WI 53590-3220 CRID: 4189003		f Any	/			Name, State, and ZIP+4 53707-7990	
	MJ 18	65							HENTELL:	
	Applicable Parts	Statement for bundles/containers only	Price C Regu	alegory ular		Combined	Combined Mailing		Consolid No	lated Postage Statement
D D	[]A [x]B-E []F Publication No. 344950	No Edition Code COUNTRY JRNI		estimated arrival	Processing Category Flats		o. of Addressed Pcs. excludressed Supplements 0,653		No. of A	ddressed Supplements
Ma	Issue Date 06/01/18	Issue Frequency 12/year							N. 48283553	ounty. Outside-County.
	Weight of a Single Ride- Along Piece Weight per Copy for Issue (Round off to necessary) 0.0000 lbs. 0.9688 lbs.			4 decimal place if	mid piece ii			Number and Trays:0 Sa		A TOTAL CONTROL OF THE CONTROL OF TH
	For Automation Rate Piece of Address Matching and Co 06/08/18		r Route Pieces, s Matching and (For Carrier Route Pic Carrier Route Seque		Date of	Sandidi i kathalia an anamii F		simplified address enter date le or alternative method
	Part A	- In-County Price		art A (Postma	aster: Report tot	al Part /	A postag	e in AIC 2	224)	\$0.00
	Part B - Outside C			Total Part B			\$2,601.68			SASATUSHUR S
	Part C - Outside C	ounty Piece Pric	es	Total Part C			\$3,600.35 \$513.66			The state of the s
	Part D - Outside C				Total Part D		\$513 \$758			
_	Part E - Outside Co		Pallet Price		Total Part E Subtotal Parts B, C, D, and E					A 新国的 1000 1000 1000 1000 1000 1000 1000 10
tage	Outside County Po		nom Limited Cir						199	
Sts	(Add line B17, and parts C,	D, and E Totals) X.05	(all others enter	zero)				- \$	0.00	
l g	Subtract the Preferre	ed Price Discount	rom the Ou	tside County	Postage			= \$7,47		
	Part F - Outside Co	ounty Ride-Along	1						0.00	
		Outside County I				le Count				\$7,473.79
	Add Total In Coun	ty Postage and 1	otal Outsid	de County P	ostage		Total	Postag	je	\$7,473.79
							(AIC 22	4 + AIC 1	35)	and the second of the second o
	For USPS Use Only: Addit	tonal Postage Payment	(State reason)	必能可可能发	10.4		9464	U Seyana		
L	. 以在自己的	的自然的政策。		SELECTION TO SERVE			THE PARTY NAMED IN COLUMN	d Posta	THE THINKS	\$7,473.79
Certification	he or she is authorized of	on behalf of the mailer g from matters within to omplete; that the mail ailing does not contain or who omits informat	then that mail- heir responsib and the suppo any matter pro on requested	er is bound by the ility, knowledge, rting documental ohibited by law or on this form may	e certification and a or control. The mail tion comply with all p or postal regulation. I by be subject to crimin	grees to p er hereby postal star l understa	ay any def certifies th ndards and nd that any	iclencies. In at all inform the mailing one who fu	addition ation fun qualifie rnishes	s for the prices and fees false or misleading

Detailed Job Shipment Report

Customer Job Number **Country Journal Publishing**

37677

Job Description Grain Journal - May Jun 2018

Distribution Total: 11,981 Billing Total: \$324.55 Cartons Total: 26

Date	Ship#	Consignee	City	St	Via	Ctns	Weight	Desc	Qty	Cost
			Madison	WI	Madison Mail - Prepaid			DOMESTIC MAIL (POLYBAG)	10,772	
6/11/18	Load01	US Postal Service		***	Customer Pickup	19	540	BULK-MSI (POLYBAG)	516	
6/11/18	Load02	IMEX/ elk grove	Elk Grove	IL.		10	(2) (3) (3) (3) (3)	1 TO	50	\$226.08
6/8/18	Load03	Country Journal Publishing	Decatur	IL	Next Day Air	2		CUSTOMER COPIES	30	77777
6/11/18	Load04	BARB SELYEM	BOZEMAN	MT	Ground	1	5	CUSTOMER COPIES (POLYBAG)	5	\$15.02
	Load05	Country Journal Publishing	Decatur	11	Ground	4	117	CUSTOMER SAMPLES	100	\$83.45
6/11/18						10/07		CUSTOMER COPY TEAR SHEETS	15	
6/11/18	Load05	Country Journal Publishing	Decatur	IL.	Ground				7	
6/11/18	Load05	Country Journal Publishing	Decatur	IL	Ground			CUSTOMER COPIES (POLYBAG)		
6/8/18	Load06	Finished Goods	Sun Prairie	WI	Finished Goods			CUSTOMER SAMPLES	281	
6/8/18	Load06	Finished Goods	Sun Prairie	WI	Finished Goods			OVERS	235	

Part B

Outside-County - Pound Prices

Advertisi	na Pound	Prices
Auvelus	nu r ounu	1 11003

	Entry Zone	Subscriber or Requester Copies	Nonsubscriber or Nonrequester Copies	Total Copies	Total Pounds	Advertising Pounds	Price	Total Postage
B4	1 & 2	978	0	978	947.0000	644.0000	\$0.212	\$136.5280
B5	3	3,091	0	3,091	2,995.0000	2,037.0000	\$0.230	\$468.5100
В6	4	4,021	0	4,021	3,896.0000	2,649.0000	\$0.291	\$770.8590
B7	5	1,927	0	1,927	1,867.0000	1,270.0000	\$0.364	\$462.2800
B8	6	472	0	472	457.0000	311.0000	\$0.445	\$138.3950
В9	7	279	0	279	270.0000	184.0000	\$0.539	\$99.1760
B10	8	4	0	4	4.0000	3.0000	\$0.623	\$1.8690
B12					Subtotal (Ada	l lines B1-B11)	C A	\$2,077.6170

Nonadvertising Pound Prices

	Entry Zone	Total Pounds	Advertising Pounds	Nonadvertising Pounds	Price	Total Postage
B16	All Others	10,436.0000	7,098.0000	3,338.0000	\$0.157	\$524.0660
B17				Subtotal (Add	lines B13-B16)	\$524.0660

Part B Total - Pound Price Total (Add lines B12 and B17) \$2,601.68

Part C

Outside-County - Piece Prices

Machinable Flats

	Level	Price Level	Total Copies	Addressed Pieces	Price	Total Postage
C1	Mixed ADC	Barcoded	228	228	\$0.490	\$111.7200
C2	Mixed ADC	Nonbarcoded	4	4	\$0.535	\$2.1400
C3	ADC	Barcoded	352	352	\$0.441	\$155.2320
C4	ADC	Nonbarcoded	1	11	\$0.474	\$0.4740
C5	3-Digit/SCF	Barcoded	7,809	7,809	\$0.390	\$3,045.5100
C6	3-Digit/SCF	Nonbarcoded	90	90	\$0.416	\$37.4400
C7	5-Digit	Barcoded	1,723	1,723	\$0.314	\$541.0220
C8	5-Digit	Nonbarcoded	8	8	\$0.317	\$2.5360

Carrier Route & Firm Bundles

	Level	Price Level	Total Copies	Addressed Pieces	Price	Total Postage
C29	Basic		428	428	\$0.205	\$87.7400
C32	Firm Bundle		129	10	\$0.207	\$2.0700
C33	Subtota	al(Add lines C1 through C32)	10,772	10,653	20200000	3,985.8840
C34	Nonadv. %			10,653	\$0.00110	\$-374.9856
C35	ha wa duning a supra water the transfer of	Subtotal Outside County P	iece Prices (Line C	33 minus C34)	•	3,610.8984

Full Service Intelligent Mail Option

102372017	Level	Price Level	Total Copies	Addressed Pieces	Price	Total Postage
C36	and the last of th	Number o	f pieces that comply	10,550	\$0.001	\$-10.5500

Part C Total (Line C33 minus C34)	\$3,600.35
10000000000000000000000000000000000000	

Part D

Outside-County - Bundle Prices

Outside-County - Bundle Prices

	Container Level	Bundle Level	Bundles	Price	Total Postage
D1	Mixed ADC	Mixed ADC	12	\$0.212	\$2.5440
D2	Mixed ADC	ADC	39	\$0.610	\$23.7900
D3	Mixed ADC	3-Digit/SCF	344	\$0.715	\$245.9600
D4	Mixed ADC	5-Digit	96	\$0.761	\$73.0560
D5	Mixed ADC	Carrier Route	26	\$0.998	\$25.9480
D6	Mixed ADC	Firm	6	\$0.396	\$2,3760
D8	ADC	3-Digit/SCF	84	\$0.459	\$38.5560
D9	ADC	5-Digit	21	\$0.516	\$10.8360
D10	ADC	Carrier Route	8	\$0.770	\$6.1600
D12	SCF/3-Digit	3-Digit/SCF	136	\$0.344	\$46.7840
D13	SCF/3-Digit	5-Digit	73	\$0.387	\$28.2510
D14	SCF/3-Digit	Carrier Route	15	\$0.558	\$8.3700
D15	SCF/3-Digit	Firm	4	\$0.257	\$1.0280

The same of the sa		
Part D Total (Add lines D1-D18)	864	\$513.66

Part E

Outside-County - Sack, Tray, and Pallet Prices Cont.

Outside-County - Pallet Prices

Container Level		Entry	Pallets	Price	Total Postage
E54	Mixed ADC Pallet	Origin SCF	4.0000	\$8.093	\$32.3720
E58	ADC Pallet	Origin SCF	4.0000	\$64.195	\$256.7800
E64	3-Digit/SCF Pallet	Origin SCF	7.0000	\$66.992	\$468.9440

E84	Part E Pallet Total (Add lines E52 - E83)	15.0000	758.0960

Part E Total (Add lines E51 and E84) \$758.10